
Clumsy Cupid Quick Questions
Valentine’s Day was fast approaching and Cupid was  
very busy with the huge number of calls he was  
receiving each day. Everyone wanted to find love!

Unfortunately, despite graduating from an excellent  
school in Rome, Cupid’s archery skills had still not 
improved. On Sunday morning, while aiming his  
arrow at a couple walking by the river, he  
accidentally missed and hit a duck.

Later that same day, he had managed to hit two  
police officers directing traffic rather than the people  
he had been asked to help. 

Finally, on Friday, Cupid had managed to clumsily  
help two elephants to fall in love at the zoo by  
accidentally firing an arrow their way. 

1.	 Find and copy two adverbs which show that 
Cupid was not intentionally missing his target. 

                                                                                       

2.	 Using fewer than 20 words, write a blurb for  
this story.  

�  

�

3.	 What impression do we get of Cupid from  
this extract? 

�  

�  

4.	 What do you think is likely to happen to 
Cupid if he keeps hitting the wrong people? 

�  

�
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Clumsy Cupid Answers
Valentine’s Day was fast approaching and Cupid was  
very busy with the huge number of calls he was  
receiving each day. Everyone wanted to find love!

Unfortunately, despite graduating from an excellent  
school in Rome, Cupid’s archery skills had still not 
improved. On Sunday morning, while aiming his  
arrow at a couple walking by the river, he  
accidentally missed and hit a duck.

Later that same day, he had managed to hit two  
police officers directing traffic rather than the people  
he had been asked to help. 

Finally, on Friday, Cupid had managed to clumsily  
help two elephants to fall in love at the zoo by  
accidentally firing an arrow their way. 

1.	 Find and copy two adverbs which show that 
Cupid was not intentionally missing his target. 
Accept ‘accidentally’ and ‘clumsily’. 

2.	 Using fewer than 20 words, write a blurb for  
this story.  
Accept answers which include the key points 
of the story in 20 words or fewer, such as: What 
chaos will Clumsy Cupid cause on Valentine’s 
Day this year? Find out more in this funny story. 

3.	 What impression do we get of Cupid from  
this extract? 
Accept any reasonable answer linked back to  
the text, such as: Cupid is very hard-working 
but has terrible archery skills and often hits the  
wrong people. 

4.	 What do you think is likely to happen to 
Cupid if he keeps hitting the wrong people? 
Accept any prediction related to the character  
of Cupid, such as: I think that Cupid will lose his 
job because he is causing trouble by hitting the  
wrong people.
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